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Y- y3HaTs...

P- pacckasars...
O- OO'BSICHUTHb...
K- KO/LZIeKTUBHO,

IPY>KHO paboTars.



/
-~ ANnroputM YMHOXeHUA

ABY3HA4YHOIo 4YCJia Ha OHO3HAa4YHOE

Hp@I[CTaBJ'I}HO 4uCia0 B BUJEe CymMmbl PC

HpI/IMGH}IIO pacCIpEeaCIUTEILHOE CBOMCTBO
YMHOKE€HHUSI OTHOCUTEIBHO CYMMBI

YMHOXKAK0 NECATKU

YMHOXKAI0 €IUHUILIBI
CxiaasIBaro

Haz3psiBaro orBeT




Pa0ora B mapax
IIpoBepka:
17%2= (10+7)*2=10%2+7%2=20+14=34

15%4= (10+5)*4=10%4+5*4=40+20=60

18*5=(10+8)*5=10*5+8*5=50+40=90
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[ IpoBepKa:
o 1 Bap. 2 Bap.
® 48 60
» Ol 48
9 5) 70
© 70 52



CEFOAHSA HA YPOKE
MHTEPECHbIM
OblNO0...

TPYAHbIM
OblJ10...




